EARAROBREBRT —5 XN—ZXBISH—F

2024558178 (&) 40EH6H

IS ~U—J—-)VREC1 U5%R4EE

‘(fﬁ} W ‘I%EH?’JFE‘?] N I

[AE%] 17%&:1,100,000 § ~ 237&:385,000H  37&:220,000F  43&:165,000 @ . 53&:110,000 &

B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
1 4| R TILRYF t 4 ;zl%ﬁ 1:(1_9).3 2222 39.0| — | 1 (43;; Eg%ﬁ (@)
RE-UR B:Fv—LRIT—I J=YYTr—L
S~ R 5 ) — s 7 | EHAR 1:20.2 4-4-4-3 | 39.1| — 3 484 | SRETTHL (FERR)
2 7 JZVRIaEY 56.0 2 1/2) -3) @ﬁ*ﬂ%
RiFVyvB/F+ BNVFVI—Ta /=Y Tr—I
3 W 7~ t 8 | LUAAE] 1:20.4 9-9-9-7 |38.6| - 4 | 465 | GIEE (@R
3/5/5 YIIRUwWIY + 57.0 (1 1/4) () | EERIER
RiYIRI—ZZRI— BIAIIAYFIY gilll =V
# 5 | NEEF 1:20.5 1-1-1-1 [39.9| - 6 488 | EaahiE (EE)
41811 FFEAFFA 56.0 %) (+10) | DREE
R:AVYISvIEL BRYFRILL NIERNTP—L
~ ) f—= B4 | HARKHE 1:20.5 8-8-3-4 [39.2| -— 2 43 | EEXE (BH)
51718 | 7A7 L= .0 F93) (g) | LRI
RTFRIAVL—Y B:ZST)FRYD Hat ASK STUD
= o4 | BEMT 1:20.6 10-10-7-6 | 38.8 | — 5 | 486 | KEAER (k)
618110 IA1—XRvIR 56.0 (z1) gy | EEBEA
RYNITSIY B:RA—Ly hTA¥ (L=t
< = KLIBEARED :20. -7-6- . - ENERS (FEl%)
; 6| FUTVIILRST it 6 Ui 1(22(;9 7-7-6-5 | 39.5 7 (453 ﬁﬁ%ﬁ
RiXT T4 By RXALT LSHAZET7—LA
Uy — H o6 | EEER 1:21.1 11-11-11-11]38.9 | — | 10 | 490 |REHE (FEk)
Y ) PIREELE A 52.0 1172 () |WepAe
Ri—5—=yvF B:AUFvtEIR KIFEBHUS
= .= ERER 122, -3-5- . - Hohéitg (EH)
N : BEECOEEEL "9 R A IR P G [
RiTSAIVS— F:ETHEIY BIRKIS
3~)3 N 4 6 | WEAERK= 1:22.0 5-6-7-9 | 40.4| — " 505 | EHOmER (Ff)
1007]|9 | TAYYYFN %53.0 N3 -8 (B) ) PN
RIIZART—VIF— BI—YVY—T)— SERIS
~ — t 6 | BEHE= 1:22.1 6-5-10-9 | 40.7 | — 8 | 446 |GEEXREB (RM)
1111 |#¥70-uz 54.0 i o |_® s
RIN=YTS5A4 BINWF—IXZARI—F DS
@ 1—F—&RIEL
13—7— 11,4,3,7,9,1,6,8,5,10,2
20—F— 11,4,3,7,1,9,6,8,5,10,2
30—7— 11.4,8,7,3,6,(9,10),5,1,2
AT=5r= 11,4,7,8,6,10, (3,5), (1,9) ,2
0 ILRE
BB 4 180 JA R 4-7 190H e B 4-6 360M 3EE 4-5-7 900M4
B B 4 110/ 45 310 5 E 4-7 390 3EH A5 2,450
7 120 5-7 480 B8 4-7 5504
5 190M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




